216 +
216 +
216 +
216 +
216 +

59 +
99 +
959 +
59 +
99 +

165 +
165 +
165 +
165 +
165 +

316 +
316 +
316 +
316 +
316 +

160 +
160 +
160 +
160 +
160 +

Puissances de Dix (D)

6

0,6
0,06
0,006
0,0006

1

0,1 =
0,01 =
0,001 =

0,0001

0,5
0,05
0,005
0,0005

0,4
0,04
0,004
0,0004

0,8
0,08
0,008
0,0008

90 = 2 =
90 = 0,2 =
90 = 0,02 =
90 = 0,002 =
90 + 0,0002 =
141 + 3=
141 + 0,3 =
141 + 0,03 =
141 + 0,003 =
141 + 0,0003 =
88 + =
88 = 0,2 =
88 = 0,02 =
88 = 0,002 =
88 + 0,0002 =
375 =+ =
375 = 0,5 =
375 = 0,05 =
375 = 0,005 =
375 + 0,0005 =
8 260 = 2 =
8 260 = 0,2 =
8 260 = 0,02 =
8 260 = 0,002 =
8260 + 0,0002 =
DEFI
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216 +
216 +
216 +
216 +
216 +

59 +
99 +
959 +
59 +
99 +

165 +
165 +
165 +
165 +
165 +

316 +
316 +
316 +
316 +
316 +

160 +
160 +
160 +
160 +
160 +

Puissances de Dix (D) Solutions

6 =

0,6 =
0,06 =
0,006 =
0,0006 =

1 =

0,1 =
0,01 =
0,001 =
0,0001

0,05 =
0,005 =
0,0005 =

0,4 =
0,04 =
0,004 =
0,0004 =

0,8 =
0,08 =
0,008 =
0,0008 =

36

360
3600
36 000
360 000

59

590
5900
59 000
590 000

33

330

3 300
33 000
330 000

79

790
7900
79 000
790 000

20

200

2 000
20 000
200 000

45

450

4 500
45 000
450 000

47

470

4 700
47 000
470 000

44
440

4 400
44 000
440 000

75

750

7 500
75000
750 000

4 130
41 300
413 000

4 130 000

0,0002 = 41 300 000

90 = 2 =
90 = 0,2 =
90 = 0,02 =
90 = 0,002 =
90 + 0,0002 =
141 + 3=
141 + 0,3 =
141 + 0,03 =
141 + 0,003 =
141 + 0,0003 =
88 + =
88 = 0,2 =
88 = 0,02 =
88 = 0,002 =
88 + 0,0002 =
375 = 5=
375 = 0,5 =
375 = 0,05 =
375 = 0,005 =
375 + 0,0005 =
8 260 = 2 =
8 260 = 0,2 =
8 260 = 0,02 =
8 260 = 0,002 =
8 260 =
DEFI
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